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A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MBS 2t 42,372,791 42,851,696 478,905
= 19,426,333
[ 5,605,685
Il 636,100
< 13,755,197
= 2,899,476
ASYRIHA = 26,648 27,583 2935
201 er23 | 8,075 8,075 0
01 At2teltl 8,075 8,075 0
Out=gl 823 a4+ S 8,075
202 0o4dl 16,300 15,300
01 =LHNHI 15,300 15,300
Ottsddes s g4 15,300
307 21201 & 3,273 4,208 A935
02 QB HANSER 3,273 4,208 A935
Ot=0g & XN2SAEE X3 3,273
ARG L Xt EI(MEXS0ILEISITH) 6,154,024 5,768,346 385,678
= 4,244,154
== 1,909,870
308 XXM SOIA 6,154,024 5,768,346 385,678
= 4,244,154
[ 1,900,870
01 HAHHBAEES 6,154,024 5,768,346 385,678
OutsdEz02dal S 6,154,024
= 4,244,154
= 1,909,870
ARG Xt EI(MEX SRS KHA) 192,004 192,004 0
308 XXM SOIH 192,004 192,004
01 AX N B ELES 192,004 192,004
OMt=d=E0ZNU S 192,004
S ABHD] Xt 3,552,000 3,432,000 120,000
= 710,400
= 2,841,600
201 er23| 3,552,000 3,432,000 120,000
= 710,400
= 2,841,600
01 AtR2t2|HI 3,552,000 3,432,000 120,000
OLr=NsH=D] Xt 3,552,000
== 710,400
= 2,841,600
a2 ZAIE - MstEHl X 934,933 952,403 A17,470
308 XXM SO0IH 750,155 751,725 21,570
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A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AXISHHA =22 & 361,922 481,368 A119,446
OLE2ASINE & 312,922
= 215,808
< 97,114
Oelst=d A=A Y2t 228 4X 49,000
MZXSHA 7= & 2 (AZ3Y) 279,340 279,340 0
= 192,652
= 86,688
308 XtXIEMSO0IE 279,340 279,340 0
= 192,652
s 86,688
01 XN BSELES 279,340 279,340 0
Odt=dlgAalll S 279,340
= 192,652
[ 86,688
AETSHA = 2 2S(AZX2) 180,554 173,884 6,670
= 124,520
= 56,034
403 AXIEHHSA=201H 180,554 173,884 6,670
= 124,520
= 56,034
01 AR A =2 £ 180,554 173,884 6,670
Out=283sxt S 180,554
= 124,520
== 56,034
ANERRE 28 19,100 15,000 4,100
= 19,100
308 XXM SOIA 19,100 15,000 4,100
= 19,100
01 HAHHBSEXS 19,100 15,000 4,100
OtHEAMBIAZ0F 2123 19,100
= 19,100
AEYUX NEEH L FA(E) 142,400 146,860 4,460
= 56,960
= 27,564
= 57,876
206 M=l 4,600 9,060 A4,460
= 1,840
= 2,760
01 M=4l 4,600 9,060 A4,460
OtEXERAE 2E 4,600
= 1,840
= 2,760
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A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 137,800 137,800 0
= 55,120
== 24,804
= 57,876
05 2ItRIE = 137,800 137,800 0
OLt=2 B AL W=H] 137,800
= 55,120
=S 24,804
= 57,876
St XIUSdE =4 232,000 0 232,000
= 160,000
=S 72,000
403 AXIEHMSAH=01& 232,000 0 232,000
= 160,000
== 72,000
01 A= 2L 232,000 0 232,000
OME=dAUSHH S &4 232,000
= 160,000
& 72,000
LEAE(E) 22,857 14,286 8,571
[ 16,000
= 6,857
201 2egh=3| 22,857 14,286 8,571
= 16,000
=S 6,857
01 At2teltl 22,857 14,286 8,571
O8EAId EIIRIE =g 22,857
= 16,000
[ 6,857
YAl (2 E) 6,445,3%4 5,762,000 683,354
[ 5,639,685
= 805,669
403 AXIEHHSAH=201H 6,445,3%4 5,762,000 683,354
[ 5,639,685
= 805,669
01 AR A =2 £ 6,445,354 5,762,000 683,354
LT AL (ZHHYE) 6,445,354
s 5,639,685
== 805,669
LA (LEES S)(HEAY) 3,209,615 3,209,615 0
403 MR HHMSAHE01H 3,209,615 3,209,615
01 HXIHHA 22 3,209,615 3,209,615
O (HYYE) S 3,209,615




SA AR D
Hu: g A U
el AEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AZAIS (AR S AR d) 13,241,209 13,587,706 A346,497
2 10,154,776
= 3,086,433
403 RHXI S SAH2O0|H 13,241,209 13,587,706 N346,497
2 10,154,776
= 3,086,433
01 XXISHHIAH2 2 = 13,241,209 13,587,706 346,497
OAHIE S AZAIAE =4 13,201,209
2 10,154,776
== 3,046,433
OAMAIE =AM (A THaH0IE) 40,000
EF S EOHAILE) 226,789 20,977 23,812
2 158,752
[ 68,037
401 AlEHIZL 2O 226,789 202,977 23,812
= 158,752
= 68,037
01 Al&H] 226,789 20,977 23,812
OAMEHALY EIEEBOHAISE S) 226,789
= 158,752
== 68,037
EFE S B (GHRtE AR XIT .Y ) 3,922 0 3,922
2 2,745
= 1,177
401 AlEHIL 2L 3,922 0 3,922
2 2,745
= 1,177
01 Al&H] 3,922 0 3,922
OB FRI A EFR ST} 3,922
= 2,745
== 1,177
ANAlE B 107,289 138,899 A31,610
2 82,530
= 24,759
308 XIXISHHIS 01 107,289 138,899 A31,610
2 82,530
= 24,759
01 AXISHBAEEZ 107,289 138,899 A31,610
OAIZAIE B 107,289
2 82,530
= 24,759
AHAIE RXI2e 362,362 316,862 45,500
=2 278,740




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 83,622
308 AXIHSOIA 362,362 316,862 45,500
= 278,740
= 83,622
01 AXEH B EES 362,362 316,862 45,500
OAML-EEE, ANEXEEX S 362,362
= 278,740
= 83,622
A THOH L Ktel (APATER S Z O 2HE) 392,825 370,640 22,185
= 191,622
< 201,203
308 AXIHMSOIA 392,825 370,640 22,185
= 191,622
& 201,203
01 HASHHBSEXS 392,825 370,640 22,185
ObrZTHOH L Kk2 | (AHALER B Z Ol E) 392,825
= 191,622
= 201,203
AtXl2e| X 12,750 12,750 0
201 el 12,750 12,750
01 At2t2ltl 12,750 12,750
Ot 2el 24 12,750
2URHEASE HZLR A 1,141,762 1,141,762 0
308 AXIMSO0IA 1,141,762 1,141,762
01 HXHHBAEES 1,141,762 1,141,762
A2USHESE HLLIFFA X 682,762
OAUSRMESE A A (22N 459,000
AHENS(HEF) 1,416,555 1,180,349 236,206
= 1,302,193
=S 114,362
308 XXM SOIA 1,416,555 1,180,349 236,206
= 1,302,193
== 114,362
01 HRESHH B EES 1,416,555 1,180,349 236,206
OALIRMEESE LA 1,416,555
= 1,302,193
< 114,362
AHHNS(0ISEHE =) 365,836 341,484 14,352
= 213,720
= 82,116
308 XXM SOIA 365,836 341,484 14,352
= 273,720




A= PN Wy
B ol A Usl
el AEES 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 82,116
01 HASHHBSEEXS 365,836 341,484 14,352
OaULSFR0ISEHE =2 365,836
= 213,720
= 82,116
AN S(LHHHNS) 1,118,688 995,767 122,921
= 914,763
=S 203,925
308 XXM SO0l 1,118,688 995,767 122,921
= 914,763
< 203,925
01 XN B2 LS 1,118,688 995,767 122,921
Ogprdolis ¢Hl 1,118,683
= 914,763
= 203,925
AHHNES(+FEI) 39,000 39,000 0
= 30,000
= 9,000
308 XX HMSO0IA 39,000 39,000 0
= 30,000
s 9,000
01 XN B2 LS 39,000 39,000 0
Odgd =42 39,000
= 30,000
[ 9,000
AL THOH L Ktel (Gl =2 M) B & 618,648 579,521 39,127
= 475,883
= 142,765
308 AHXIHMSO0IA 618,648 579,521 39,127
= 475,883
= 142,765
01 AXNBEES 618,648 579,521 39,127
Ottt Rl (M 2L M) 2B 4 618,648
= 475,883
== 142,765
AFETHOH L Atel (Ol 2R AIE) XH= 18,372 19,019 NB47
= 14,132
= 4,240
403 XIS A=201E 18,372 19,019 N6AT
= 14,132
= 4,240
01 AXIEHM A= 2 £ 18,372 19,019 AB47
OuZ LA LR 18,372




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 14,132
=S 4,240
AHE THoH 2 3,060 3,060
201 er2 3| 3,060 3,060
01 AtR2te|Hl 3,060 3,060
OLHE oS K| THE & &8td =2 3,060
AHALEH e 24X AEi AL 227,500 213,3% 14,105
= 175,000
= 52,500
308 AHXIHMSO0IA 227,500 213,3% 14,105
= 175,000
S 52,500
01 AXENBELES 227,500 213,395 14,105
OLIAEHR AKX AEH AL 227,500
= 175,000
== 52,500
SNty SZ o M2AE 240,100 171,500 68,600
= 196,000
= 44,100
403 AXIEHMSAH=201H 240,100 171,500 68,600
= 196,000
= 44,100
01 AXISHHA2EE 240,100 171,500 68,600
OATH&Y SHFTlo M 240,100
= 196,000
=S 44,100
YT B A 6,000 0 6.000
403 MR HHMSAHE01H 6,000 6.000
01 AXIEHHA 22 % 6,000 6,000
OJHIAtE & AR BIX] 2 (ZRIE0) 6,000
LHEEAETASE 830,220 0 830,220
Il 636,100
= 194,120
401 AIEHIZ SR 0HYI 36,700 0 36,700
7l 25,700
= 11,000
01 Al&H| 36,700 0 36,700
Od= Za=3 Beddgit 36,700
Il 25,700
== 11,000
403 AXIEtMSAH=01d 793,520 0 793,520
Jl 610,400




A= PN Wy
B ol A Usl
el AEES 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 183,120
01 MXIHHA 22 793,520 0 793,520
Od= dA=H 793,520
Il 610,400
= 183,120
ST |4 67,319,792 62,076,195 5,243,597
= 45,943,946
Il 2,995,600
= 18,380,246
YA A 3,612 3,612 0
201 et 3| 3,612 3,612
01 At22t2l] 3,612 3,612
Oal=d & SIHIIHA S| 3,612
(YL F) 5,571,842 5,735,882 164,040
= 5,571,842
401 AIEHIZ SR THYI 5,571,842 5,735,882 164,040
= 5,571,842
01 Al&H| 5,563,842 5,723,882 160,040
FEUE QS 5,563,842
2 5,563,842
03 Al 2CHYI 8,000 12,000 24,000
OXEE Edd AL 8,000
= 8,000
ZE(3NE =) 4,811,382 4,799,976 11,406
= 3,685,507
s 1,125,875
403 MR SHHMSAH=01H 4,811,382 4,799,976 11,406
= 3,685,507
[ 1,125,875
01 A= 2L 4,811,382 4,799,976 11,406
O3MExd 4,811,382
= 3,685,507
= 1,125,875
TE(2U=R =) 1,339,652 929,998 409,654
= 617,552
S 722,100
403 XM SAH=01H 1,339,652 929,998 409,654
= 617,552
== 722,100
01 A= 2L 1,339,652 929,998 409,654
O2U*Rx8 1,339,652
= 617,552




S A= DAL=

Hm: olg 2T 2
ol M =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| & 722,100
TH(XNASS 2,773,865 2,841,521 N\67,656
= 2,133,742
= 640,123
403 THXI M SAH=01H 2,773,865 2,841,521 A\67,656
= 2,133,742
=S 640,123
01 XIS A =2 & 2,773,865 2,841,521 A\B7,656
OXNS St 2,773,865
= 2,133,742
< 640,123
ZH(OINSXIMZ) 1,514,500 1,001,000 513,500
Il 1,165,000
= 349,500
403 AXIEHHSAH=201H 1,514,500 1,001,000 513,500
Jl 1,165,000
= 349,500
01 AXISHHA=2EE 1,514,500 1,001,000 513,500
OEANMZAE 1,514,500
Jl 1,165,000
s 349,500
TE(HEAEEY) 2,984,444 2,984,444 0
= 2,644,444
& 340,000
403 AXIEHMSAH=Z01d 2,984,444 2,984,444 0
= 2,644,444
= 340,000
01 XISHH A =22 E 2,984,444 2,984,444 0
OFal=Pag=pehes 2,984,444
= 2,644,444
= 340,000
DdaD|gixd K 286,608 300,103 A13,49%
= 221,641
[ 64,967
403 MR HHMSAHE01H 286,608 300,103 A13,495
= 221,641
= 64,967
01 MXIHHA 222X 286,608 300,103 A13,49%
OESHAIIBI LY 286,608
= 221,641
= 64,967
M=) 24,491,826 18,998,874 5,492,952
= 18,836,636
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2A:

NE: 9ol IH 23
el AEAE | EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
< 5,655,190
201 er23y| 12,000 12,000 0
= 6,000
= 6,000
01 AFS2t2ltl 12,000 12,000 0
O Jlekted 28 S 12,000
= 6,000
= 6,000
403 X SHHMSAH=01H 24,479,826 18,986,874 5,492,952
= 18,830,636
< 5,649,190
01 A= 2L 24,479,826 18,986,874 5,492,952
ZIHRIIANY 24,479,826
= 18,830,636
== 5,649,190
SSEHE I 2,326,204 2,647,250 A321,046
= 1,789,388
= 536,816
308 XX HMSO0IA 2,326,204 2,647,250 A321,046
= 1,789,388
s 536,816
01 XN B2 LS 2,326,204 2,647,250 A321,046
OSSLHEIIRIIA 2,326,204
= 1,789,388
[ 536,816
OIMEIX M2 S =IH0] 2,379,780 2,291,640 88,140
Il 1,830,600
= 549,180
403 AXIEHHSAH=201H 2,379,780 2,291,640 88,140
Jl 1,830,600
= 549,180
01 AXISHHA=2E XL 2,379,780 2,291,640 88,140
OUINEX M& & S =IH2] 2,379,780
Il 1,830,600
== 549,180
0l Ol= AHSHI0IAEH 886,280 886,280
308 AXIHSOIA 886,280 886,280
01 HAHHBAEEXS 886,280 886,280
OOl 018 AHHBOI 2D A=E 886,280
=58 YAS HEADAESOIAIS (HEAIY) 273,062 273,062
403 AXIEHHSAH=201H 273,062 273,062
01 AXIEHM A= 2 £ 273,062 273,062
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SN AT

Hm: olg 2T 2
el AEAE | (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

< 223,693

01 MXIHHA 22 1,267,593 2,366,012 1,008,419
Ozlatd it= T2t 1,267,593
= 1,043,900
= 223,693

LA SMAEX F 25} 4,357,890 1,828,180 2,529,740
= 2,685,460
=S 1,672,430

403 AXIEHMSAH=0lH 4,357,890 1,828,180 2,529,740
= 2,685,460
< 1,672,430

01 XA 22 % 4,357,890 1,828,180 2,529,740
Og =8 o723t 4,357,890
= 2,685,460
= 1,672,430

Rl P A Rl e 4,800,250 6,543,565 1,743,315
= 2,743,000
= 2,057,250

403 TR SHMSAH=01H 4,800,250 6,543,565 1,743,315
= 2,743,000
s 2,067,250

01 AXISHHA =2 £ 4,800,250 6,543,565 A1,743,315
(OF= 2 PIL=l S~ PN 4,800,250
= 2,743,000
< 2,057,250

U= RSATINS 2,113,200 1,709,200 404,000
= 1,511,000
= 602,200

403 AXIEHHSAH=201H 2,113,200 1,709,200 404,000
= 1,511,000
= 602,200

01 AR A =2 £ 2,113,200 1,709,200 404,000
ORSHH € IS¢ Edst S 2,113,200
= 1,511,000
== 602,200

LAUSMAIIBIEL (R SII8 1,631,884 2,964,850 1,332,966
= 932,505
= 699,379

403 AXIEHHSAH=201H 1,631,884 2,964,850 1,332,966
= 932,505
= 699,379

01 AXIEHM A= 2 £ 1,631,884 2,964,850 1,332,966
Oogdts =3JI8txd 1,631,884
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S A= DAL=

NE: 9ol IH 23
ol M =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 3,7%
202 048l 1,518 1,380 138
= 759
= 759
01 =LHOHI 1,518 1,380 138
O=sHdad S=22l 0] 1,518
= 759
= 759
308 XtXIEMSOIH 13,156 11,960 1,196
= 10,120
< 3,036
01 HRHHBAEES 13,156 11,960 1,196
O MLy SE2el 13,156
= 10,120
= 3,036
NAH LSHINHEH ES 32,500 44,850 12,350
= 25,000
= 7,500
403 TR SHMSAH=01H 32,500 44,850 12,350
= 25,000
s 7,500
01 A= 2L 32,500 44,850 12,350
OZIIAHHEIES 32,500
= 25,000
< 7,500
E(UHat=8ixd) 389,610 340,886 48,724
= 299,700
= 89,910
403 AXIEHHSAH=201H 389,610 340,886 48,724
= 299,700
= 89,910
01 AR A =2 £ 389,610 340,886 48,724
OUzt=2t =4 389,610
= 299,700
== 89,910
I 535,823 535,823
403 MR EHSAHE01H 535,823 535,823
01 MXIHHA 222 535,823 535,823
OXZEAl At=2te| 535,823
S A2 277,680 281,606 A3,926
= 213,600
= 64,080




2A:

Hm: olg 2T 2
ol M =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOl 277,680 281,606 A3,926
= 213,600
== 64,080
01 XN BSELS 277,680 281,606 A3,926
OS2 (S8 HH2el S) 277,680
= 213,600
& 64,080
SIS SIHA A 210,600 0 210,600
= 162,000
= 48,600
403 TR SHMSAH=01H 210,600 0 210,600
= 162,000
=S 48,600
01 AXISHHA =2 £ 210,600 0 210,600
Oz 2B =T L 210,600
= 162,000
[ 48,600
=sXEE - AEFRY - S 43,063,130 56,614,822 13,551,692
= 1,287,891
= 3,000,000
Jl 12,895,587
= 25,879,652
Nege==2 T4 & S2H(HEA) 1,425,000 1,650,000 225,000
403 X SHMSAH=01H 1,425,000 1,650,000 A225,000
01 AR A =2 £ 1,425,000 1,650,000 A225,000
O4+22 T4(22) 1,425,000
ANg==2 2 d=tted 30,312 17,850 21,462
308 AXIHMSOIA 30,312 17,850 21,462
01 XN BSEES 39,312 17,850 21,462
OAE+==2 8435 39,312
SNz S ZE(HEAY) 4,740,060 4,946,893 A206,833
403 AXIEHMSAH=201H 4,740,060 4,946,893 A206,833
01 HXIHHA 22X 4,740,060 4,946,893 206,833
OXIXHM &A=, Ji12=, 8802 S &
A 3,816,060
Ostul= &4 924,000
JIZE EAlE &4 11,400,000 24,720,000 A13,320,000
) 9,500,000
< 1,900,000
403 MR EHSAHE01H 11,400,000 24,720,000 213,320,000
Il 9,500,000
= 1,900,000
01 HXIHHA 22X 11,400,000 24,720,000 13,320,000




A= PN Wy
B ool A Ast
e N A R S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OJI2UHE8 ZAl= &4 11,400,000
Jl 9,500,000
== 1,900,000
CABEEERS 3,600,000 6,600,000 3,000,000
[ 3,000,000
= 600,000
403 AXIEHHSAH=201H 3,600,000 6,600,000 A3,000,000
[ 3,000,000
= 600,000
01 AIXISHHA2EE 3,600,000 6,600,000 A3,000,000
OFAlttgd= &4 3,600,000
= 3,000,000
=S 600,000
25+ g4l X3 447,300 447,300 0
= 100,000
& 347,300
201 er=2 3| 50,000 50,000
01 AtR2te|HI 50,000 50,000
O3+ & &2 0I10] A 88 50,000
308 XXM SOIH 130,000 130,000 0
= 100,000
= 30,000
01 AXNBEES 130,000 130,000 0
o otEAH 130,000
= 100,000
== 30,000
403 MR HHMSAHE01H 267,300 267,300
01 HXIHHA 22 267,300 267,300
OE5% 3l 267,300
Cl =8 a2 B3 =4 1,327,299 1,524,059 196,760
201 2= 15,755 15,755 0
01 At22t2lt] 15,755 15,755 0
OZ2s & R3=AE UE2+E S 11,547
OR=ZstE43s 22 2 HUNE S 4,208
303 Z&a= 3,000 3,000
01 Za= 3,000 3,000
OfR3=58e 2 24 3,000
308 AHAIEHMSOIE 369,024 311,404 57,620
01 HAHHBSEXS 369,024 311,404 57,620
OFR=A28X EH 28 8,640
O= A2l & (XHA) 300,384
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A AEXRD
KEH: OlOf 2
[ I =

aY Y= Hat
e N A R S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAlglol etEE KAHEISIEAl Ot (ERIE
04) 60,000
403 MR HMSAHE01H 939,520 1,193,900 N254,380
01 MHXIHH A 22 939,520 1,193,900 A\254,380
ogsitizs &4 550,800
OgtE= 22l 48,720
OlEdd M2 UR T4 A(Z21EA) 60,000
O8I0 22 Z4(E21E0) 6,000
O=ZENSd 23 ESAE(E2EA) 9,000
O At2| GHaH Atz Aot 4 (ERIEK) 6,000
OL0Ig OIS dH3d ZEAS(ZEH) 90,000
OAlatet ngs olst2 2oz (=2
04) 60,000
O=8%= =0IHZ 0t &=sst TAl 2
BA(ERIE) 9,000
Otfeat==3 S=01F a8 L HMAIE
HH 100,000
sgetest X4 2 2S(HEAY) 225,000 225,000
403 X SHHMSAH=01H 225,000 225,000
01 AXISHHA =2 £ 225,000 225,000
outgssd S43t 225,000
NSHE T (HEA) 792,000 720,000 72,000
403 MR HHMSAHE01H 792,000 720,000 72,000
01 MXIHHA 22 792,000 720,000 72,000
OXNg&E& xd 792,000
AUEA x4 600,000 300,000 300,000
7l 500,000
= 100,000
403 TR SHMSAH=01H 600,000 300,000 300,000
Il 500,000
s 100,000
01 AXISHHA =2 £ 600,000 300,000 300,000
aUgdE xd 600,000
Jl 500,000
[ 100,000
AUEI(ADIEIES) 210,000 126,000 84,000
= 175,000
= 35,000
403 AXIEHHS X201 210,000 126,000 84,000
= 175,000
= 35,000
01 AXISHHA=2E XL 210,000 126,000 84,000
OAOtEI =2 210,000




A= PN Wy
Ma: olol AMA A3
e N A R S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 175,000
=S 35,000
AR ABIAZR0] 2EX2 98,948 92,344 6,604
= 82,460
< 16,488
308 AHAIEMSOIE 98,948 92,344 6,604
= 82,460
= 16,488
01 HAHHBSEXRS 98,948 92,344 6,604
O==SJ32CIHI0IH 98,948
= 82,460
= 16,488
GEEHINSSENSAE 731,443 1,742,673 A1,011,230
Jl 731,443
403 AXIEHHSAH=201H 731,443 1,742,673 A1,011,230
Jl 731,443
01 AXISHHA 22 % 731,443 1,742,673 A1,011,230
OsM=RIE2t =4 731,443
Jl 731,443
AHEOIS2E0UN 114,000 133,200 219,200
= 95,000
[ 19,000
308 AIXIHHISO0IA 114,000 133,200 A19,200
= 95,000
S 19,000
01 X SHHBAEXS 114,000 133,200 /19,200
O4tEHEE 2SXE 114,000
= 95,000
= 19,000
KIRH A = 2 (M ALY 6,200,000 4,605,000 1,595,000
403 X SHHMSAH=01H 6,200,000 4,605,000 1,595,000
01 AR A =2 & 6,200,000 4,605,000 1,595,000
OXgizay Rd(22) 6,200,000
SOt L2 (HEAY) 585,000 780,000 195,000
403 MR HHMSAHE01H 585,000 780,000 195,000
01 MXIHHA =222 585,000 780,000 195,000
OROt=MEZd 585,000
St S dE=2e A 1,167,870 856,680 311,190
201 et 3| 11,000 11,000 0
02 s3=gHl 11,000 11,000 0
OFY 10004t AOIE |XI2= 11,000
308 XXM SOIA 13,000 13,500 A500
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A= PN Wy
B ool A Ast
e N A R S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 189,303
=S 37,866
308 XXM SO0l 227,169 190,627 36,542
= 189,303
== 37,866
01 XN BSELES 227,169 190,627 36,542
O=o&lt A== 227,169
= 189,303
& 37,866
FOotzu=s AE2E X 544,839 333,598 211,241
= 454,063
= 90,776
308 XX HMSO0IA 544,839 333,598 211,241
= 454,063
=S 90,776
01 XN B2 LS 544,839 333,598 211,241
FOt=ol& E=Y 544,839
= 454,063
[ 90,776
AH otal Ol &4 240,000 300,000 60,000
Il 200,000
= 40,000
403 AXIEHHSAH=201d 240,000 300,000 60,000
7l 200,000
= 40,000
01 AXISHHA=2EE 240,000 300,000 60,000
OXH ot Ol &4 240,000
Il 200,000
== 40,000
adE &4 1,200,000 1,500,000 /300,000
Jl 1,000,000
= 200,000
403 AXIEHMSA=Z01d 1,200,000 1,500,000 300,000
Il 1,000,000
= 200,000
01 XIS 2EE 1,200,000 1,500,000 A.300,000
a83d x4 1,200,000
7l 1,000,000
= 200,000
CAl= g3aeel 24 61,878 172,800 A110,922
= 51,565
[ 10,313
308 AXIHS0IA 61,878 172,800 A110,922




A= PN Wy
B ool A Ast
e N A R S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 51,565
=S 10,313
01 XN B2 LS 61,878 172,800 A110,922
OFAlz g2l 61,878
= 51,565
< 10,313
SMENBIAZR0] 2SN (HEAI) 539,902 385,083 154,819
308 AtXIEHMSOIE 539,902 385,083 154,819
01 HASHHBSEXS 539,902 385,083 154,819
Ozt 2elQl 146,275
OEAI=X2el& 133,322
Ot ACIHIOIE 26,665
O=Zd ST At 233,640
SHEFASMST 63,750 0 63,750
= 42,500
= 21,250
308 AtXIEHMSOIE 63,750 0 63,750
= 42,500
= 21,250
01 AXH B2 LS 63,750 0 63,750
ONAS A= HHHS A 63,750
= 42,500
s 21,250
SEE SA=IHI| 338,457 0 338,457
) 260,352
& 78,106
403 AXIEHMSA=Z01H 338,457 0 338,457
Il 260,352
= 78,105
01 XIS A=E £ 338,457 0 338,457
Osgd ZAI=IH0I 338,457
Jl 260,352
= 78,105
N A SE (M EALY) 1,125,000 0 1,125,000
403 MR HHMSAH=01H 1,125,000 1,125,000
01 AXISHHA 22 £ 1,125,000 1,125,000
Ot =2d T4(2e) 1,125,000
SN S 222 SEEI 914,930 0 914,930
Il 703,792
= 211,138
403 AXIEHHSAH=201d 914,930 0 914,930
Jl 703,792
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